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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of --------——- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying ---------- .
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a ---—------—- to finding employment at the nearby office
complex.
1y hindrance 2) supplement 3) confirmation 4y versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ------—----
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refrained from 4) exposed to

7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4y pursued

8- In the absence of death from other causes, all members of a population may exist in
their environment until the ------e--- of senescence, which will cause a decline in the
ability of individuals to survive.
I) ratio 2) onset 3) core 4) output

9- Before the invention and diffusion of writing, translation was ------—--—- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous

10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifterent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategics (11) -mmmmamam- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) -=-mmnenme underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ==-=------ both help people shed  pounds through the same basic mechanism:
(14) -=-mmmeme major sources of calories. When you create an energy deficit —that is. when you
consume tewer calories (15) —=mmmmeeme — your body begins burning its fat stores and you losc
weight.

11- 1) employed 2) arc employed 3) is employed 4y then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4y to expend
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Part C. Reading Comprehension
Directions: Read the following three passages and choose the best choice (1),
(2), (3), or (4). Then mark it on your answer sheet.

Passage 1

Under the powerful influence of multimillionaire R.K. Mellon, Pittsburgh became the first
major city to undertake a modern urban-renewal program in May 1950. Pittsburgh was
famous around the world as one of the dirtiest and most economically depressed cities, and
seemed ripe for urban renewal. A large section of downtown at the heart of the city was
demolished, converted to parks, office buildings, and a sports arena and renamed the
Golden Triangle in what was universally recognized as a major success. Other
neighborhoods were also subjected to urban renewal, but with mixed results. Some areas
did improve, while other areas, such as Liberty Hill and Lower Hill declined following
ambitious projects that shifted traffic patterns, blocked streets to vehicular traffic, isolated
or divided neighborhoods with highways, and removed large numbers of ethnic and
minority residents. In 1956, the Federal-Aid Highway Act gave state and federal
government complete control over new highways, and often they were routed directly
through vibrant urban neighborhoods _isolating or destroying many _ since the focus of the
program was to bring traffic in and out of the central cores of cities as expeditiously as
possible and nine out of every ten dollars spent came from the federal government. This
resulted in a serious degradation of the tax bases of many cities, isolated entire
neighborhoods, and meant that existing commercial districts were bypassed by the
majority of commuters.

16. All of the following are cited as variables contributing to the initiation of a modern
urban-renewal program in Pittsburgh EXCEPT --------- .

1) its bad economic state

2) the powerful influence of a particular person

3) that a large part of it was already razed to ground

4) that Pittsburgh required such a program due to its bad condition

17. The Golden Triangle was recognized as a success ----------- .

1) globally

2) only locally

3) at a local and national level only

4) more nationally than internationally

18. According to the passage, the implementation of modern urban-renewal programs
in other cities ------------- .

1) yielded different results

2) has not yet been completed

3) led to the same success experienced in Pittsburgh

4) mainly failed because they were a blind imitation of the project in Pittsburgh

19. The passage refers to Liberty Hill and Lower Hill are as ------ .

1) examples of places to be emulated for those aiming to control traffic

2) places where certain projects for urban renewal had adverse effects

3) cities where numbers of ethnic and minority residents received due attention

4) locations which served as the test ground for what later came to be known as a highway

construction boom



i ol 5 (90 3T (g s g Eud o

20. The word “expeditiously” in line 14 is closest in meaning to ----------- .

1) hurriedly 2) efficiently 3) judiciously 4) thoughtfully

21. Which of the following is true about the existing commercial districts mentioned in
line 17?

1) They lost part of their potential clientele.

2) They were displaced due to the new highway network.

3) They were the only businesses that reaped the results of the project described.

4) They made use of the highway built in order to make commuters stop by at their place for
shopping.

Passage 2

New Pedestrianism has its roots in compact, mixed-use neighborhoods common in the
United States (and elsewhere) during the first quarter of the 20th century. New
Pedestrianism borrows and then expands especially upon experiments in urban design that
focused on separating pedestrians from vehicular traffic. In Venice, California around
1905, “walk streets” were constructed in a few blocks near the beach. Houses faced
pedestrian lanes that ranged between sidewalk width and about ten feet wide. Alleys in the
rear handled cars. The canals in Venice, California, built during the same period, had both
sidewalks and canals in front of the houses. Urban planners Ebenezer Howard and Sir
Patrick Geddes were an earlier influence on the design of Radburn. New Jersey. built at
the dawn of the automobile age in 1926. Radburn had pedestrian lanes in front and
vehicular access at the rear on cul-de-sacs that protruded into large multi-use blocks. A
study done in 1970 by John Lansing of the University of Michigan showed that 47% of its
residents did their grocery shopping on foot, compared to 8% for a conventional
subdivision nearby. He also determined that, overall, Radburn residents drove far less than
in any other areas he studied. The Radburn plan has been copied in various forms in
Sweden, England, Japan, New Zealand, and Australia. The San Antonio River Walk, also
known as “Paseo del Rio,” was initiated in 1929. In this case, the San Antonio River
underwent flood control measures and was turned into a peaceful canal lined on both sides
with lively pedestrian promenades, plazas, sidewalk cafes, restaurants, clubs, shops, hotels.
and other attractions that are completely separate from any vehicles. The promenades pass
underneath the roads since Paseo del Rio is one level below the street and vehicular access
to buildings is one story above the river.

22. Which of the following about new Pedestrianism is TRUE according to the passage?
1) It was most common in the first quarter of the 20th century.

2) It concerns neighborhoods made up of specifically commercial areas.

3) It is the origin of urban designs dealing with vehicle-pedestrian separation.

4) Tt deals with the problems pedestrians face in compact, mixed-use neighborhoods.

23. With regard to the city of Venice, the passage states that it -------- .

1) had sidewalks with canals on either side

2) was marked with street walks that were ten-feet wide

3) had houses overlooking pedestrian lanes hat varied in width

4) was the first city in Europe to copy the New Pedestrianism movement

24. What year is stated as the one when cars conspicuously began to appear in cities?
1) 1905

2) 1926

3) Some time after the second quarter of the 20" century

4) When the New Pedestrianism program proved to be effective.
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25. The passage refers to the study carried out by John Lansing in order to -------- .
1) attest to the efficacy of the New Pedestrianism program

2) highlight the revision the New Pedestrianism program required

3) show why the New Pedestrianism program gained international appeal

4) prove that any work done without research background is bound to backfire

26. All of the following are true about the San Antonio River Walk EXCEPT that it
1) is at times referred to as Paseo del Rio

2) included some steps taken to harness flood in the area

3) involved attractions such as restaurants etc separated from any vehicles

4) was initiated based on research carried out at the University of Michigan

Passage 3

City planning tries to control criminality with structures designed from theories like socio-
architecture or environmental determinism. These theories say that an urban environment can
influence individuals® obedience to social rules. The theories often say that psychological
pressure develops in more densely developed, unadorned areas. This stress causes some crimes
and some use of illegal drugs. The antidote is usually more individual space and better, more
beautiful design in place of functionalism. Oscar Newman's space theory cites the modernist
housing projects of the 1960s as an example environmental determinism, where large blocks of
flats are surrounded by shared and disassociated public areas which are harder to identify with
for the residents. As those on lower incomes cannot hire others to maintain public space such
as security guards or grounds keepers, and because no individual feels personally responsible.
there was a general deterioration of public space leading to a sense of alienation and social
disorder. Jane Jacobs is another notable environmental determinist and is associated with the
“eyes on the street” concept. By improving ‘natural surveillance’ of shared land and facilities
of nearby residents by literally increasing the number of people who can see it, and increasing
the familiarity of residents, as a collective, residents can more easily detect undesirable or
criminal behavior. The “broken-windows” theory believes that small indicators of neglect, such
as broken windows and unkempt lawns, promote a feeling that an area is in a state of decay.
Anticipating decay. people likewise fail to maintain their own properties. The theory suggests
that abandonment causes crime, rather than crime causing abandonment.

27. 1t is implied in the passage that

1) environmental determinism deals with the level of national criminality

2) highly developed areas are the main source of criminality in cities

3) crimes can be prevented through the prevention of drug use

4) functionalism in city planning can lead to more criminality

28. In Newman’s space theory, the emphasis is on ---=----n---- .

1) people’s social class

2) people’s fear of open spaces

3) shared and disassociated public areas

4) lack of security guards or grounds keepers

29. The word “unkempt” in line 17 is closest in meaning to ------------ .

1) dry 2) high 3) green 4) messy

30. All of the following are true bout Jane Jacobs EXCEPT that ------ .

1) her ideas drastically differed from those Newman

2) the more people keep watching an area the less probable crime is

3) it is abandonment that causes crime, but not the other way around

4) if people feel an area is in a state of decay, they may not protect their properties well

enough
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